
Opérations avec deux fractions mixtes (J)

Nom: Date: Note:

Calculez chaque résultat.

1. 547 + 127 =

2. 513 × 135 =

3. 517 − 347 =

4. 514 × 11019 =

5. 518 − 414 =

6. 545 ÷ 112 =

7. 525 ÷ 3 711 =

8. 516 × 1 211 =

9. 519 ÷ 578 =

10. 512 + 218 =
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Opérations avec deux fractions mixtes (J) Réponses

Nom: Date: Note:

Calculez chaque résultat.

1. 547 + 127 = 39
7 + 9

7 = 48
7 = 667

2. 513 × 135 = 16
3 × 8

5 = 128
15 = 8 815

3. 517 − 347 = 36
7 − 25

7 = 11
7 = 147

4. 514 × 11019 = 21
4 × 29

19 = 609
76 = 8 176

5. 518 − 414 = 41
8 − 17

4 = 7
8

6. 545 ÷ 112 = 29
5 ÷ 3

2 = 29
5 × 2

3 = 58
15 = 31315

7. 525 ÷ 3 711 = 27
5 ÷ 40

11 = 27
5 × 11

40 = 297
200 = 1 97200

8. 516 × 1 211 = 31
6 × 13

11 = 403
66 = 6 766

9. 519 ÷ 578 = 46
9 ÷ 47

8 = 46
9 × 8

47 = 368
423

10. 512 + 218 = 11
2 + 17

8 = 61
8 = 758
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